5+3+2( + 1 + 2 kg/10a)

30
0944-32-1029
10 kg kg
20 120
Brix
10 3+2kg 1 + 2 3+0kg
Brix

Brix

30



( 17 18 )
Nkg/10a ; cm  / x 100 g kg/a
5 3+2 8.24 10. 6 69 389 0.3 264 83 24.3 56.2(105) 7.5 6.7
______ 840 .24 .5 68 376 0.2 242 8 23.9 53.0(99) 7.8 6.4
7 3+2 8.24 6 68 392 0.3 268 85 23.8 56.1(105) 7.5 6.7
______ 3+0 .24 .5 68 _366 0.2 237 84 23.5 50.4( 94) 7.5 6.4
(7+3+2) 8.31 10.11 80 327 0 249 86 24.1 53.4(100) 6.0 7.5
A - - ns ns ns ns ns ** ns ns ns
(B) - - ns * ns ** ns % ** ns **
1) 21 *x o * 10 ( )
ns
2) 0oC ) 5C ) 6
3) 1.8mm
4) ) 100
5) 1@ ) 9@ ) 10
( 17 18 )
20 120 Brix
Nkg/10a
5 342 6.9 25.7 29.4 134 7.8
T30 ____ 8.5__.25.6_.29.4___135 __8.2_
7 342 7.4 25.2 28.7 135 7.4
30 6.1 _.25.6..29.2_ __134 _7.9_
23.7 23.6 26.8 132 6.6
(A) ns * ** ns *
(B) ns ns ns ns **
1) 21
2) ( 1996)
Brix
30 ( 17 18 )
Nkg/10a . . cm / x 100 g kg/a
5 3+2 8.28 10.11 71 414 0 297 84 24.1 62.0(116) 7.5 6.5
__7__3+2 8.28 .12 72 456 1.0 312 81 23.8 _62.4(117) 7.5 7.0
(7+3+2) 9. 7 10.20 91 377 1.1 299 85 24.0 60.9(114) 4.0 7.6
(A) _ _ * * ns T -l- * * ns **
1) 6 21 100
2) (B)
18 ( 17 18 )



